6 ] 5 ] 3 ] 2 ] 1
72
21.5 21.5
B-B(1:1
> ——0———Q— ( ) P
> 24 B4 G6 @4 G6
| 1\ M4x0.7 -16H @22
| | | ?6.5 ?6.5
[ | ! | | |
! ! ! @4 2-g6s : T : m*
T ] !;lé_ /"\/ o M4x0.7 - 6H )1 51 M4x0.7 - 6H
O H 0 T -
i
|
. AA(1:1) :
155 ! 15.5 5
|
Al
5 |
= @1 5] Heat <
| ! E 2
_ T B~ = :*
S Q B
| .
|
|
SN
e i -
I |
'|< 16 | 16 >|| 2- @4 -
o
! | i 2 - M3x0.5 - 6H
- _Ea_ - % -1
Material: Aluminum KAGRA Project
A

NAME

DATE

DESIGNED T. Sekiguchi

2014/07/28

CHECKED

APPROVED

KAGRA-SAS FISHING ROD
Support motor plate

1:1

THIRD ANGLE
PROJECTION

KAGRA-VIS-FR-06-v2

1/1

REV:2

2

1



